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Rechnen mit Variablen innerhalb von 1.000 Name:

Finde den Wert des Buchstaben. Antworten
1) 603+277=B B=

1.
2) 574=C-344 C=

2.
3) 557 =FE + 492 E=

3.
4) F+146=873 F=

4.
5 G+778=987 G=

5.
6) H-618=243 H=

6.
7) 970-494=] J=

7.
8) K =996 -991 K =

8.
9) 445=610-L L=

9.
10) M - 66 = 886 M =

10.
11) 507+ N =818 N =

11.
12) 686-450=P P=

12.
13) 605+ Q=976 Q=

13.
14) 857-R=636 R=

14,
15) S=232+ 118 S=

15.
16) 262-T =244 T=

16.
17) U =182+ 148 U=

17.
18) V =875-810 V=

18.
19) 182=184-W W =

19.
20) 956=Y +0916 Y =

20.
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Rechnen mit Variablen innerhalb von 1.000

Name:

L dsungsschltissel

Finde den Wert des Buchstaben. Antworten
1) 603+277=B B= 880
E— 1 880
2) 574=C-344 C= 0918
E— 2 918
3) 557=E+492 E= 65
3 65
4) F+146=873 F= 727
—_— 4. 127
5 G+778=987 G= 209
—_— 5, 209
6) H-618=243 H= 861
—_— 6. 861
7) 970-494=] J= 476
7 476
8) K =996 - 991 K= 5
8 5
9) 445=610-L L= 165
—_— 0. 165
10) M - 66 =886 M= 952
— 10. 052
11) 507+ N =818 N= 311
—_— 11. 311
12) 686-450=P P= 236
— 12. 236
13) 605+ Q=976 Q= 311
_ = 13, 371
14) 857-R =636 R= 221
— 14, 221
15) sS=232+118 S= 350
— 15, 350
16) 262-T =244 T= 18
16. 18
17) U=182+ 148 U= 330
— 17. 330
18) Vv =875-810 V= 65
18. 65
19) 182=184-W W = 2
19. 2
20) 956=Y +916 Y = 40
20. 40
1-10 195(90(85|80| 7570|6560 |55 |50
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Rechnen mit Variablen innerhalb von 1.000 Name:
Finde den Wert des Buchstaben. Antworten
861 165 5 311
880 65 209 918 1
476 952 236 727
2.
1) 603+277=B B=
3.
2) 574=C-344 C= 4
5.
3) 557 =E + 492 E-=
6.
4) F+146=873 F= .
8.
5 G+778=987 G=
9.
6) H-618=243 H= 10.
11.
7) 970-494=] J=
12.
8) K =996 -991 K =
9) 445=610-L L=
10) M - 66 = 886 M =
11) 507+ N =818 N =
12) 686-450=P P=
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